Chapter 9 Review Name K(‘:’

Math 3313 Date Period

Use the figure of Circle A at right to answer #1 - # 9. If a line appears tangent, assume it is tangent.
Be as specific as possible.

1. Name two radii: Nﬁ h pﬁ\/ . OA ,
2. Name two chords: NV , F‘_’)
&~ '
3. Name two secant: Fﬂ /
iy £
4. Name two tangent: QF 2 K\7
5. Name two Central angles: L DA N,, Lo v

6. Name a diameter: NV
7. Fisa OO;A\Y o(’ \'kambj
8. /POEisan ‘\v\:u:\'rk) A

9. Name a right angle: Lk \“\ y L A’V p

Given the equation of a circle, find the center, and radius of th_g cjggle.m'lv“_!}gn grgph the crirrcé:tlg.‘

0. (x+32+(y+2)?% =9 e e e e e o

Center: (- 3 ',' 2)

Radius: 3

0. (x+2)?2+ (-4 =4
Center: ('l / Ll )
Radius: 2




Use the figure of circle P at right to find the missing arc or angle measures.

9
12. mAC = 35 13. mRA = “O
14. m«DPI = 5,5 15. m«CPD = '\1 z

16. mCDR = ’}\1 17. mAl = 1"”

Use the figure of circle P at right to find the missing arc or angle measures. o

28
18. mRC = XC. 19. mID = %(,'

20. m<CPR = <g b 21.m.APR= |92

~
22.m17L = hﬂ . 23, mi%’: 7/0%

24. Write equation of a circle with center (-8, 9) and radius 7.
1 1
(x+8) +(y-9) ="

25. Write equation of a circle with center (24, -13) and radius 13.

(x-2) +(%13) = 19



For 26-27, find the arc length of the following.

L=«

26. Exact arc length of ICR 20

27. Exact arc length of ICR 8 ?

Approximate arc length ICR 3 S » ?)L( (M

Solve for the value of x.

28.

1
gt = (x45)
167 = X" per S
o =X +9F I
0= (x-%)xx?)

x=$| o £=-18
¢

’Hm

R
29.

i\ X C
12
B
o I), ,\-—)\ - ('7«5 "H)’)

\q~(+xL;r36‘1

- 1115
@sz



30. Find the perimeter of quadrilateral ABCD.

32. B

T ——
—

34.

%=155

31. Find the perimeter of the triangle.
_® 9

— 7

A

33.
S€4n=]tr-23
55 = K
35.
211"
\

=M



Find the following missing measures.

36. mZLTBE = g{ﬂ

37. mAT = 5'7'
8. mBE= WS

36. mLATB= —l g

390, meBid= WO S

Find the following missing measures.

36. meTBE= 59

37. mAT =__ %5 ]
)]

38. mBE = q ‘

36. mLATB= g_l

39. mLBEA=

40. v 15

‘5-1: |1(7(-Hl)
225 = 123421
jor = T

b5 =%




Find the value of the following variables.

42. T
/ 7 \ 10 3

46.
X
] 48’
L
2 t% _ Y9P
—_— -
C ol

s
o
™

1(1§) = (1)
2r= %t




Find the value of the following variables.

48.
[
264°
X= T3
50. 83{)
y = Ml. 5

49.

s1.

\

/Ox.

288°

X:bg



